Chapter 2: Roma

cella

1.

Lines 1-2. Why is Currax hurrying through the city?

servum Rafina videt (line 2). Which is the correct translation?
(a) The enslaved boy sees Rufina.
(b) Rufina sees the enslaved boy.

Explain how you know your choice is correct.

Lines 6-8. Which two of the following statements are true?
(A) Her son is held by Catia.

(B) The boy's father strokes the dog.

(C) Rufina is pleased to see the dog.

(D) There is a lot of beer on offer.

Lines 10-12. Currax praises the room.

(i) What two details of this praise does Currax give?
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